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H6 Opgave 9 (iii)

(benchmark practicum9.smt
:extrapreds ((p) (q) (r))

:formula (and
(not (or p (not (not q))))
(impliesr q)

(implies (not p) r)

)

G \Users EimonesDounloadssYicess\Yicesrhin>yices —e —smt practicum?.smt
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H6 Opgave 14 (iv)

(benchmark practicum14.smt
:extrapreds ((A) (B) (C))

:formula (not (and
(implies

(implies A (implies B C))
(implies (and A B) C))
(implies

(implies (and A B) C)
(implies A (implies B C)))
)

: :\Users\Simone\Dmanlaads\?ices\k‘icas\bin>yices —e —=mt practicumld_snt
mnzat
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H6 Opgave 8 (ii)

(benchmark practicum8.smt
:extrapreds ((p) (q))

:formula (and

(not(or p q))

(not (and (implies p q)(implies q p)))
)

E:\Users\Simune\annlgads\Yices\?ices\hin)yises —e —smt practicumB.smt

unsat
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(benchmark practicumformule.smt

:extrapreds ((p1) (p2) (q1) (q2) (r1) (r2) (r3))

:formula (and

(and

(impliesrl (and (and p1 p2) (and q1 q2)))

(implies (and (and p1 p2) (and q1 q2)) r1))

(and

(implies r2 (or (or (or (and p1 p2) (and p1 q1)) (or (and p1 q2) (and p2 q1))) (or (and p2 g2) (and q1

a2))))

(implies (or (or (or (and p1 p2) (and p1 q1)) (or (and p1 g2) (and p2 q1))) (or (and p2 g2) (and q1 q2)))

r2))

(and

(implies r3 (or (or (and p1 (and p2 q1)) (and p1 (and p2 q2))) (or (and pl (and q1 g2)) (and p2 (and q1

q2))))

(implies (or (or (and p1 (and p2 q1)) (and p1 (and p2 q2))) (or (and p1 (and gl g2)) (and p2 (and g1

q2)))) r3)

(not r1)
r2
r3

))
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O (565 nele  wihveer:
X troegeoceqgd amn formle

C:\USEY-S\Simnne‘x])m-mlﬁads\’x‘iaes\&'ices\hin}yices —& —smt practicumformule.=mt
=at

1l falsed
true
true’
falsel
truel
truel
true

1 T

alatalatalalal

« (not (and (and (not p1) p2)) (and gl g2)))

C:~Users SimonexDounloads \¥ices \¥ices“\hin Pyices —e —smt practicumformule.smt
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